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Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than
one cirtle is darkened, the answer will not be valued at all. Use HB pencil to make heavy black
marks to fill the circle completely. Make no other stray marks.
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e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
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Mark Paper Code and Roll No. as given in the Hall Ticket with HB pencil by darkening
appropriate circles in Part A of side 2 of the Answer Sheet. Incorrect/not encoding will lead to
invalidation of your Answer Sheet.
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To change an answer, erase completely the already darkened circle and use HB pencil to make

fresh mark.
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The candidate should not do rough work or write any irrelevant matter in the Answer Sheet.
Doing so will lead to invalidation.
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Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
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In India, the States get maximum income |6.
from
(1) Sales tax
(2) Land revenue
(3) Agricultural income tax

(4) State excise duties

The top profit making enterprise of the
Government of India is

(1) Steel Authority of India Ltd. &

(2) 0il and Natural Gas Commission

(3) Mahanagar Telephone Nigam

(4) None of the above

The poverty rate in India is

(1) 32% i

(2) 40%

(3) 835%

4) 37%

India’s industrial policy in respect of

foreign multinationals in recent years

has been

(1) of encouraging them in India 8

(2) of discouraging them in India

(3) of making their ownership more in
India

(4) leaving them untouched altogether

What is trade point ? 10.

(1) A centrally controlled stock market

(2) An important export forum

3) A world-wide electronic  data
network
(4) A forum of Indian financial

institutions

GTG/202
Which of the following is not a
component of Human Development
Index ?

(1) Life expectancy in India -

(2) Literacy rate and mean years ©
schooling

(3) Infant mortality rate

(4) Income

Which one of the following is considered
transfer payment ?

(1) Social security contributions
(2) Subsidies

(38) Grants

(4): 0ld age pensions

Targeted public distribution system h
been introduced in India since

(1)-1991
(2) 1995
(3) 1997
(4) 2001

How can we achieve favourable BoP ?
(1) Stepping up of exports

(2) Reduction of imports

(3) Both (1) and (2)

(4) None of the above

Which theory advocates investmen
large industries for growth path ?

(1) Critical minimum effort
(2) Big push

(3) Unbalanced growth

(4) Balanced growth
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The transaction demand for money,
according to W.J. Baumol, depends on

1)
(2)
3)
(4)

Income and rate of interest
Rate of interest and price of bonds
Supply of money and income

Rate of interest and supply of
money

The Reserve Bank of India issues all
currency notes except

1)
(2)
(3)
4)

500 Rupee note
100 Rupee note
10 Rupee note

1 Rupee note

NABARD gives loans directly to
(v
(2)
(3)
(4) None of the above

Small farmers
Village artisans

Petty traders

The Industrial Development Bank of
India is a/an

(1) Subsidiary of the RBI

(2) Department of the RBL

(3)

Autonomous Public Sector
Institution

(4) Private Sector Bank

The cottage and small scale industries
have an important role in India because
they

(D
(2)

promote employment

prevent concentration of economic
power

(3)
(4)

reduce inequalities

All of the above

17.

18.

19.

20.

GTG/R02

Which is the cause of
urbanisation in India ?

(1

growing

Growth of industry and trade in the
urban areas

(2)

Excessive pressure of population in
rural areas

(3)
@

Low productivity in agriculture

All of the above

Rising prices and inflation in India have
(1)
(2)
3)
(4)

Adverse effect on BoP
Adverse effect on investment
Accentuated income inequalities

All of the above

The Eighth Five Year Plan was started
on

(1)
(2)
3)
(4)

v

January 1, 1982
January 1, 1990
April 1, 1992
April 1, 1991
What is the approximate percentage

share of the primary sector in India’s
National Income ?

(1) 40
(2) 50
(3) 60
(4) 70
The Chairman of the Planning

Commission of India is the
(1) President of India

(2)
(3)
(4)

Prime Minister of India
Finance Minister

All of the three by rotation
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(8)

Food and fertilizer subsidies are included |26.

in

(1) Capital expenditure

(2) Revenue expenditure

(3) Plan expenditure

(4) All of the above

The biggest source of capital receipts of
the Union Government is

(1) Market borrowings

(2) External assistance

(8) Small savings

(4) Provident fund

Which State in India has the largest
number of towns ?

(1) Maharashtra

(2) Uttar Pradesh

(3) Madhya Pradesh

(4) Tamil Nadu

The policy of the government with regard
to its revenue and expenditure is called
(1) Monetary policy

(2) Trade policy

(3) Economic policy

(4) TFiscal policy

Match the following :

A. Nagarjunasagar 1. West Bengal

B. Hirakud 2. Orissa

C. Damodar Valley 3. Andhra
Pradesh

4. Karnataka

A B C
m 1 2 3
2) 4 3 2
@ 3 2 1
4 2 1 4

27,

GTG/202
Consider some of the indicators of
economic development in the Indian
Economy :

A. Larger GDP from primary sector

B. [Institutional
economy

changes in  the

C. Structural transformation from
agrarian into an industrial economy

D. Inclusive growth

Of the above

(1) B, C and D are correct
(2) A, B and C are correct
(3) A, C and D are correct
(4) Only B and C are correct

Examine some of the facts about National

Rural Employment Guarantee Scheme

2006 ;

A. It guarantees 100-days employment
to unskilled workers.

B. The programme is managed by the
Central Government.

Work

subsumed

C. The

Programme has

National Food for
been

under this programme.

D. Asset formation in rural areas is the
main goal of the programme.

Of the above

(1) A, B and C are correct
(2) B, C and D are correct
(3) A, B and D are correct

(4) A, C and D are correct
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Which one of the following is the most
important cause of under-development of
the Indian Economy ?

(1)
(2)
3)

High density of population
Lack of capital

Co-existence of under-utilised
manpower and natural resources

(4)

Low per capita income

Consider some of the stages of economic
development as pointed out by Prof. W.W.
Rostow :

Traditional society
The Take-off stage
Drive to Maturity

(4) The age of High Mass Consumption

Which one of the following is the largest
source of ‘net invisible’ in India’s foreign
trade on current account ?

(1) Foreign remittances
(2)
(3)

(4)

Tourism
Transfer payments

Transportation

The largest amount of exports from India
go to

1 UK
(2)
(3)

(4)

China
USA.
UAE.

)

32.

33.

34.

35.

36,

GTG/2i
In which one of the followi
commodities was India’s percenta

share in the world market in the ye
2004 the largest ?

(1) Tea

(2) Woven fabrics
(3) Rice

(4) Iron ores

In the year 2005 - 2006, the source
largest amount of grant for India was

(1) Japan

(2) Asian Development Bank
(3) World Bank

(4) UNDP

The State with the lowest sex ratio is

(1) Kerala
(2) Tamil Nadu
(3) Andhra Pradesh

(4) Haryana

Out of the various sources of power, {
government relies more on

(1) Atomic power

(2)
(3) Wind power

Thermal power

(4) Hydro power

Who among the following is associa’
with the calculation of index numbers

(1) Fisher

(2) Edgeworth
(3) Pigou

(4) Dalton
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Autarky is a state of

1)
(2)
3
(4)

Trade between friendly nations
Trade between neighbours
No trade between nations

No trade because there is no gain at
all from trade

Which state in India produces the largest
amount of coal ?

(L
(2)
(3)
(4)

West Bengal
Madhya Pradesh
Orissa

Bihar

Who is the present Governor of RBI ?

(1
(2}
(3)
(4)

Rangarajan

Y.B. Reddy
Ahluwalia

Dr. Manmohan Singh

Savings represents

(1

2)
(3)

“4)

an injection in the circular flow of
income

both a leakage and injection

a leakage in the circular flow of
income

None of the above

The target growth rate during the
Eleventh Five Year Plan Period is

(1
(2)
(3)
(4)

%
85%
9%
9-2%

42,

43.

44.

45.

GTG/2

The essential condition of equilibrium
a two sector model is

(1) Aggregate income = Aggreg:
expenditure

(2) Savings = Investment

(3) Exports = Imports

(4) Taxes = Government expenditure

One of the following is nof a mon
creating agency, namely

(1) Households and finance
(2) Commercial banks

(3) The central bank

(4) The government

An industry is called sick when

(1) It fails to generate surplus on

continuing basis

(2) The cash flow goes on increasing

relation to revenue commitments

(3)

The profit after meeting expens
being less than the remains

The tendency is to draw more |
cheques than by cash

Co-existence of private and public sect:
in an economy is called

(1) Controlled economy
(2) Capitalism

(3) Joint sector

(4) Mixed economy
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A marginal holding is one that has an
area of

(1)
(2)
3)
(4)

Below 1 hectare
Between 1 — 2 hectares
Between 2 —4 hectares

Between 4 — 10 hectares

Which of the following is a direct method
of reducing economic inequalities ?

(1
(2)
3)
4)

Estate duty
Wealth tax
Capital gains tax
Ceiling on holding

The largest proportion of national income
comes from

(68}
(2)
(3)
4)

Public Sector
Private Sector
Local Sector

None of the above

The concept of consumer surplus is useful
in which policy ?

(1)
(2)
(3)
(4)

Monetary policy
Tax policy
Investment policy

Fixing remuneration factors

Which one of the following is not related
with the economic welfare of people in

India ?

(1) 'Trickle-down benefit

(2) Larger imports of consumption
goods

(3) Sustainable development

(4)

Reduction in inequalities

51.

52.

53.

54.

GTG/2(

National product at market prices
higher than the national product
factor cost by the amount of

(1) Indirect taxes

(2) Subsidies

Indirect taxes — Subsidies

3)

(4) Indirect taxes + Subsidies

Lord Cornwallis introduced in India
L
(2
3)
4)

Zamindari system
Mahalwari system
Mansabdari system

Ryotwari system

Family Planning has made minimu
impact in the rural areas because of

(1) non-availability of birth cont
measures

(2) social orthodoxy and psychologit
features

(3)
(4)

lack of adequate funds

defective planning

Durgapur Steel Plant was set up w
the assistance of

(1) UK

(2) USA.
(3)

(4)

U.S.S.R.

West Germany
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The first railway train in India steamed |60.

off in 1853 from

(1) Bombay to Thane
(2) Delhi to Meerut

(3) Howrah to Burdwan
(4) Bombay to Delhi

The biggest commercial bank in India is
(1) RBI

(2) SBI

(3) IDBI

(4) Exim Bank of India

61.

Where the first cotton textile

industry established ?

was

(1) Bombay

(2) Madras 62.

(3) Fort Gloster near Calcutta

(4) Ahmedabad

In a budget, revenue

equals expenditure.
(1) surplus

(2) deficit

(3) balanced

(4) None of the above

63.

Green Revolution in India has been most
successful in the case of

(1) wheat and rice
(2) wheat and potatoes
(3) mustard and oilseeds

(4) tea and coffee

N
GTG/2D2

The Twelfth Finance Commission is
headed by

(1) Raja Chellaiah
(2) Y.B, Chavan
(3) Kelkar

(4) AM. Khusro

The first 20-Point
announced by Smt. Indira Gandhi in

Programme Was

(1) 1973
(2) 1974
(3) 1975
(4) 1976

Which book was written by Dadabhai
Naoroji on Indian poverty and economy
under British rule ?

(1) Indian Economy under British Raj

(2) British Rule and Economic Drain of
India

(3) Economic Drain and
India

Poverty of

(4) Poverty and Un-British Rule in
India

The theory of stages of growth is

associated with

(1) Simon Kuznets
(2) Colin Clark

(3) Paul Samuelson

(4) W.W. Rostow
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Architect of India’s Second Five Year
Plan model is

(1) Bramanandha
(2) Mahalancbis
(3) Harrod-Domar
(4) Chakravarthi

In which Five Year Plan was the actual
growth rate more than the target growth
rate 7

(1) First Plan
(2) Second Plan
(3) Fifth Plan
(4) Seventh Plan

Which of the following provides long term
finance to industries ?

(1) IDBI
(2) SBI
(3) LIC
(4) RBI

Which one of the following was not a
form of industrial capital and colonial
exploitation during British rule in India ?

(1) Duty free import of finished goods in
India

(2) British government levied a heavy
customs duty on imports of Indian
products

(3) Construction of railways was
financed by the British government

(4) British capitalists invested large
amount of money in jute industry

GTG/2G2

Before Independence, the first estimates
of national income in India were made by

(1) M.N. Roy

(2) V.K.R.V. Rao

(3) KN.Rgj

(4) Dadabhai Naoroji

Which of the following was nof true
about the effect of British rule in India ?

(1) Tax free import of manufactured
goods

(2) Tax free import'of Indian textile
goods in UK.

(3) Development of jute industry by
Britishers in India

(4) Decline of cottage and small scale

industries in India

Which one of the following is not a part
of the strategy of direct attack on
poverty ?

(1) Integrated Rural Development
Programme

(2) Jawahar Rozgar Yojana

(3) National Rural Employment
Programme

(4) Family Planning Programme

India has the largest amount of trade
with

(1) East European countries

(2) OPEC countries

(3) Developed non-OPEC countries
(4) DECD countries
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A hypothesis is tested by 76.
(1) the realism of its assumptions
(2) the lack of realism of its

assumptions '
(3) its ability to predict accurately
(4) None of the above
717.

The idea of balanced growth is related to
the classical

idea of the nature of the economic

(1

science

(2)

idea of full employment equilibrium

law of markets

(3)

(4) school of thought

Assume that an advalorem tax is
imposed on a commodity. The price of
that commodity will rise if its elasticity of
demand is

(1
(2)
3)

Zero
infinity
unity

(4)

more than unity

Adjustment under gold standard was
described by

(1)

the price — specie — flow mechanism

(2) flexible exchange rate
(3) wariation in national income
(4) exchange rates

78.

79.

GTG/202

At present, the IT. sector in Andhra
Pradesh is providing jobs to nearly

(1) 1 crore
(2) 2 crores

(3) 3 crores

= Crore

4) 2
In the recent Five Year Plans of Andhra
Pradesh, allocation to Communications
Development is about

(1) 10%

(2) 5%

(3) mnegligible or nil
(4) 15%

Andhra Pradesh Five Year Plans are
largely financed by

(1) State  Government

surplus in
budgets

(2)

Central assistance (from Central
Government) including loans

(3)
(4)

Foreign funds
State Public Enterprises
Compared to 2001 - 02, the number of

cooperative societies at present in
Andhra Pradesh

(1)
(2)
3)
(4)

have increased
have decreased
are almost constant

have decreased to one-half of
2001 - 02 level
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As per law, the maximum land that can
be retained by a household in Andhra
Pradesh is

(1) 54 acres of the best land
(2) 54 hectares of A grade land
(3) 54 acres of K grade land

(4) 54 hectares of K grade land

Koneru Ranga Rao Committee Report is
related mainly to

Ceilings, Surplus Land
Government Assigned Lands
Tribal Reforms

SC Reforms

Land Acquisition Act of 1894 permits
governments

e8]
(2)
(3)

to take land from corporate sector
to take land from rich families

to take land from anyone for private
purpose

(4)

to take land from anyone for public
purpose

To estimate GDP and GSDP of Andhra
Pradesh in constant prices, today the
bage year is

(1) 1990-91
(2) 1993-94
(3) 1999 - 2000
(4) 2000-01

84,

85.

GTG/202

Indiramma programme stands for

(1) Development Programmes named
after Indira Gandhi
(2) Indian National Direct-Indirect

Rural Areas and Multi Model Areas

(3) Integrated Novel Development in
Rural Areas and Model Municipal

Areas

(4) None of them

At present in Andhra Pradesh there is

(1) only one IIIT at Hyderabad

(2) only one ITIT at Vishakhapatnam

(3) two IITs in whole of Andhre
Pradesh

(4) three IIITs in whole of Andhre
Pradesh

For an individual state like  Andhre

Pradesh, under the 11** Five Year Plan
number of monitorable targets suggestec

for achievement are

(1) 10
(2) 13
(3) 27
(4) 5

Tourism in Andhra Pradesh is

(1) providing direct employment

(2) providing indirect employmen
much higher than direc
employment

(3) earning foreign exchange

All are correct

4
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As in 2005 —06, out of the total cards
issued, the proportion of white cards is
about

(1) one-half
(2)
(3)
(4)

around 60%

around 75%

one-third

Before Rs. 2-a-kg rice scheme

launched in 2008, rice was sold to the
white ration card holders at

(1) Rs. 4/kg

Rs. 4-25 [ kg
Rs. 3-25 / kg
Rs. 5-25 / kg

was

In the total irrigation under all types of

wells,

(1) tubewells irrigate nearly twice that
of dug wells

(2) both types of well irrigate almost

equally

tubewells irrigate less than dug

(3)

wells

(4)

all are wrong

In Andhra Pradesh, in the recent years,
the ratio of foodgrains to non-foodgrains
is about, respectively,

66% : 34%
34% : 66%
75% : 25%
B0% : 20%

92.

93.

94.

GTG/202

In the recent years Andhra Pradesh
government has been encouraging setting
up of Budget Hotels. Its main aim is to

(1) attract FDI
(2) attract tourists

(3) provide jobs to trained catering to

young people
(4)
In Andhra Pradesh Zamindari system
was abolished by an Act passed in
(1) 1947
(2) 1948
(3) 1956
(4) 1949
Land distributed to the poor and other
weaker sections is

(1)

gerve the poor

much higher in the distribution of
ceilings surplus land

(2)

much higher than government lands
assignments

(3)
4)
Regarding the compound growth rate of

population of Andhra Pradesh during
1991 - 2001

(1) Andhra Pradesh > India
(2) Andhra Pradesh < India
(3) Andhra Pradesh = India

(4) Andhra Pradesh population growth
is 50% higher than India

forest lands share is much higher
None of them

Rural to urban population .ratio ir
Andhra Pradesh as per 2001 census was
about, respectively,

(1) 80% : 20%
(2) 78% :22%
3y 73%: 27%
4) 90% : 10%
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In Andhra Pradesh, cooperative societies
are organised under

1)
(2)
(3)
(4)

2-tier system
3-tier system
4-tier system

mono-tier system

According to 2006 Micro Small Medium
Enterprises Development Act, ceiling on
investment target for small industries

raised from
(1) Rs. 25 lakhs to Rs. 1 crore

2)

Rs. 1 crore to Rs. 2 crores

1 1
3) Rs. 15 crores to Rs. 55 crores

4)

Rs. 1 crore to Rs. 5 crores

In 2005 — 06, the number of holdings in
Andhra Pradesh were about

(1) 120 lakhs
(2) 100 lakhs
(3) 150 lakhs
(4) 200 lakhs

As per 2004-05 data régarding the
poverty ratio in Andhra Pradesh

(1)

% of urban poor in! total urban
population was greatér than % of
rural poor in total rural pepulation

% of urban poor < % of rural poor

% of urban poor and % of rural poor
was almost equal

None of the above

101.

102.

103.

104.

105.
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As per 2005 Economic Census, number of
enterprises in Andhra Pradesh is about

(68}
(2)
(3)
4)

40 lakhs
30 lakhs
20 lakhs
10 lakhs

SRI cultivation practised in Andhra

Pradesh stands for
(1)

System of Rice Intensification

(2) System of Renovation of Irrigation
(3 System of Reuse of Irrigation
(4) Sprinkler Renovation Intensification

Polavaram Project falls in the district of
(1)
(2)
(3)
(4)

East Godavari

West Godavari

Vijayanagaram

Karimnagar

Andhra Pradesh occupies a dominant
position in India in

1)
(2)
(3)
(4)

Drugs and Pharma Industry
Cement Industry

Sugar Industry

None of them

At present (2007) in Andhra Pradesh the
white ration card holders are about

(1) one lakh
(2) 170 lakhs
(3) 17 lakhs
(4) 25 lakhs
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The number of National Highways
passing through Andhra Pradesh State is
about

(1) 10
(2) 15
(8) 20
(4) 25

The programme launched to bring the
government services benefits closer to
people in rural areas is

(1)
@
@
@

Rajiv Internet Village Programme
Jawaharlal Knowledge Centres
e-3eva Centres

None of the above

The Human Development  Index
constructed by the UNDP includes per
capita income in terms of

(1
(2)
(3)

NNP per capita
GDP per capita

GDP per capita US $ in terms of
Purchasing Power Parity

(4) GDP per capita in US $ at Market

Exchange Rate

At present, the Service sector contributes
to GDP of India about

(1) more than 70%
more than 50%
25%

30%

110.

111.

112,
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The contribution of Service sector to tot:
employment of India in the recent yea:

is about

(1) a fourth
(2) a third
(3) one-half

(4) more than one-half

In the 1°° Five Year Plan of Andh
Pradesh, the estimated outlay was abou
(1)
(@)
(3)
4)

Rs. 100 crores
Rs. 200 crores
Rs. 250 crores
Rs. 300 crores

Mining is included in
(1)
(2)
(3)
(4)

Agricultural sector
Industrial sector
Tertiary sector

Infrastructure sector

Foodgrains include
(1) Wheat and rice
(2) Millets

(3)
(4)

Pulses
All of them

Andhra Pradesh has a network of Fa
Shops PDS in 2005-(
numbering about

(1)
(2)
(3)
4)

Price for

32000
22000
42000
52000
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In Andhra Pradesh, forest area as a

proportion of geographical area, at

present, is about

(1) a tenth
(2) a fourth
(3) three-tenths

(4)

one-third

Andhra Pradesh gets substantial rainfall

from
(1) North-Eastern Monsoon
(2) South-Western Monsoon

(3) South-Eastern Monsoon

(4) Eastern Monsoon

Industrial

up

The  Andhra

Infrastructure

Pradesh
Corporation  set

Industrial Estates numbering about

(1) 250

(2) 350
(3) 750

(4) 850

118,

119.

120.

121.
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Intermediaries in Telangana wern

abolished by enacting

(1) Ryotwari Act, 1948

(2) Jagirdari Act, 1949

(3) Tenancy and Agricultural Lands Ac
(4) Tribal Act

In Andhra Pradesh, most of th

agricultural holdings are with respect tc
)
(2)
(3)
(4)

Marginal Farmers
Marginal and Small Farmers
Small and Medium Farmers

Big and Medium Farmers

Andhra Pradesh passed Mutually Aide
Cooperative Societies (MACS) Act in

(1) 1995
(2) 1998
(3) 2005
(4) 2006

Jawaharlal Nehru Pharma City is beir
developed at

(64}
(2)
(3)
(4)

Vishakhapatnam
Nellore
Kadapa

Tirupati
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The Vision 2020 document of Andhra
Pradesh envisaged annual growth rate of
about

(1) 5%

(2) 10%

(3) 15%

(4) 12%

As per 2006 MSMED Act, a small

industry is one which has investment in

machinery ete. of

(1) Rs. 25 lakhs

(2) Rs. 25 lakhs to Rs. 1 crore

(3) Rs. 25 lakhs to Rs. 5 crores

1
(4) not more than Rs. 25 crores

Until 2007, number of items reserved to
SSI sector was

(1) 214

(2) 100

(3) 104

(4) 114

The Andhra Pradesh Ceiling (on
Agricultural Holdings) Act was amended
to reduce sharply the ceiling in

(1) 1953
(2) 1963
(3) 1973
(4) 1983

126.

127.

128.

129.
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As per National Human Developmen
Report (of India) 2001, the value ¢
Human Development Index of Andhr
Pradesh is

(1
(2)
(3
(4)

equal to India

greater than the value of India
less than the value of India

just 1/4" of the HDI of India

In the 2°¢ Five Year Plan outlay «

Andhra Pradesh, share of Agricultum
and allied sectors is about

(§5)
2)
(3)
(4)

20%
15%
10%
5%
In the 10™ Five Year Plan of Andh

Pradesh, the highest share in total outle
was accorded to

(1)
(2)
(3)
(4)

Power sector

Irrigation sector

Social sector

Rural Development sector

The average size of holding in Andh:
Pradesh in 2005 — 06 was about

@8]

1
1— hect
4 hectares

1
1— acres

(2) 1

1
3) 22 hectares

4)

4 acres
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As per 2001 census, in Andhra Pradesh,
of the total main workers, agricultural
labourers constitute about

1
1) Zth
(2) %rd
2
(3) Erd
(4) one-half

The largest crop in Andhra Pradesh with
1
about grd of cropped area in 2004 - 05

was

(1)
(2)
(3)
(4)

rice

oilseeds

cotton

groundnut

Productivity of rice in Andhra Pradesh in
the recent year is about

(1) 2000 kg per ha

(2) 2200 kg per ha

(3) 2400 kg per ha

(4) 2700 kg per ha

In area and production of chillies, Andhra
Pradesh ranks, in India

(1) first

(2) second

third

(4) - fourth

Groundnut monocrop area is identified
with the district of

(1
(2)
(3)
(4)

Warangal
Anantapur
West Godavari
Kurnool

135.

136.

137.

138.

139.
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Share of tanks in total irrigated area i
Andhra Pradesh in the recent year :
about

(1) 10%

2) 15%

(3) 20%

(4) 25%

Farmers of Andhra Pradesh g

institutional finance from

(1) Commercial Banks

(2) Regional Rural Banks

(38) Primary Agricultural Cooperatis
Banks

(4) All of them

As per 2001 census, in Andhra Prades]

Female Literacy Rate was about
(1) 40%
(2) 50%
(3) 60%
4) 70%

Maize crop is largely confined to
€5}
(2)
(3)
4)

North Telangana
Rayalseema

South Telangana
North Coastal Andhra

In the 10" Five Year Plan of Andh
Pradesh, the proportion of total pla
expenditure allocated to Industry an
Mining is about

1) 2%
(2) 10%
3) 5%
4) 15%
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Andhra Pradesh economy is basically an

economy of

(1)

Agriculture sector
(2) Secondary sector
(3)

Services sector

(4)

Export-oriented sector

The total population of Andhra Pradesh
as per 2001 census was about
(1) 7l

5 crores

(2) 7 crores

1
(3) 65 crores

(4)

6 crores

In the recent years, the growth rate of
Andhra Pradesh economy is about

1
(1) 15%

1
(2) 25%
® 859
(4) 71’7

7%

143.

144.

145.

146.

GTG/20:%

Nagarjuna Sagar project was constructec

on the river

(1) Godavari
Krishna
Penna

Vamsadhara

In the total geographical area of Andhra
Pradesh, proportion of sown area is
about

(D

oo

(2)

o=

rd

Wit

(3)
(4) one-half

In agricultural sector, as per National

Commission on Agriculture, the
maximum  potential for generating
employment is in the crop of

(1) pulses

(2) oilseeds

(3) cereal crops

(4)

horticulture crops

GNP is greater than GDP if the country’s
®
(2)
(3)
(4)

imports exceed exports
prices are falling
exports exceed imports

net foreign income is positive
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In Andhra Pradesh, state income is
estimated by

(1) State Planning Board

(2) Directorate of Ecoriomics and
Statistics

(3) Principal Finance Secretary

(4) Central Statistical Organisation

Per capita income of Andhra Pradesh in
current prices in 2006 — 07 is about

(1) Rs. 30,000
(2) Rs. 25,000
(3) Rs. 40,000
(4) Rs. 20,000

GTG/Z

149. In Andhra Pradesh, to estimate stz
income, the method followed is

150.

a.
b.
o
d.
(1)
(2)
(3
(4)

Output method
Input method
Expenditure method
Income method

a and b are correct
a, b and ¢ are correct
¢ and d are correct

all are correct

India’s national income is calculated wi
the help of

Income method
Output method
Expenditure method
All of them
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